
Find the amplitude, period, and phase shift by using the following forumals: 

Period = 
2𝜋

𝜔
   𝜔 = the number in front of 𝜃  Phase shift =   − 

𝜃
𝜔

     

 

𝑦 = 5 sin(3θ − 5)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = 2 sin(θ + 1)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = sin(7θ − 4)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = 3 sin(
𝜋

2
θ)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = sin(
3𝜋

2
θ + 1)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = sin(θ + 3)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = cos(𝜃 + 3)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = cos(4𝜃 − 1)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = cos(
𝜋

4
𝜃 − 5)              amplitude ________  Period _______         Phase Shift _______ 

 

𝑦 = cos(𝜋𝜃 − 6)              amplitude ________  Period _______         Phase Shift _______ 

 

Using the unit circle find the following values: 

Sin 2400 = ______    Sec 1200 = ____ Tan 1800 = ____  Tan 2700 = ______ 

 

Cos 
5𝜋

2
 = _______ Cos 

𝜋

2
 = _______ Csc  

4𝜋

3
 = _______ Cot 

3𝜋

2
 = _______ 


